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7. 1f & — 4 is a common factor of the p
and 32° — 102 + b, caleulate ab («

8. Forthe rhombus ABCD if AB = (&
BC=12cm, ZACD=T0"un
calculate T+ Y.

(59—3)

B 2cm Cc

9. AABC s an isosceles wiangle with
poin;l O and T are the circumcente
AABC, respectively. If ZOAB
measure of ZBIC ~ ZBOC ind
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10. For J.7+3'2 = y . let A be the mi
number x for which v is » natural nun

Calculate 24 + B

11. When a coin is flipped, a score of —
score of | is given 1o tils. If the pro
scare of 1 by flipping the coin 3 time

(where % i irreducible).

12. Paint G is the centroid of AABC
G and paratlel to BEMK
D and E |, respectively. If the arca

find the area of AGME incm’.
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